
TC + VC = TB + VB

TC = 0 

VC = 1/2 k ξC
2 +mgyC

TB = 1/2 vB
2

VB = 1/2 k ξB
2 +mgyB ξB = 0



TC + VC = TB + VB

TC = 0 

VC = 1/2 k ξC
2 +mgyC

= 1/2 (40N/m)[(0.3 m) 30o/180oπ]2 

+(0.2Kg)(9.81 m/s2 )[(0.3m)(1- cos 30o) ]

TB = 1/2 m vB
2

VB = 1/2 k ξB
2 +mgyB = 0 

vB = 2.39 m/s

θΒ = 30o
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N – m g = m vB
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N
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N = m vB
2/R +m g = 0.2(2.392/0.3 + 9.81) = 5.78 N


